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BRATS . 25 ZERH REH
pryrr—n it S HE—R
e b 2k 5 . Eih HEE iz BE |En]  (HE Eth HEE pi:br ] HE |me| g=
BREOR (B2 i LR 100| 1@ hES NS "
Eih HErE fiE ¥E |y {HE TS 100| {8 hiE s =45 BHIt 50| kg
R FEATS LT3k 250| 1@ &R k3, 73445+ 100| & REA S =M TH#) 1,000| kg
B vy KF49Y4k & IME~R 145, 1435 200| 1@ B®E S 7Y% 50| ke
INFI{TY3k L[5 b 208 300| kg H 1,700 kg
BB w1t |15k & HER &7, EFRS 200| & 500 #%
ERR T #1115k 100| {8 e UE TS 200| kg
EJ]| @ X5 BER4# 754 100| 1& &% 5100 kg
R W | K715k, g & kR hfR 5 @ 2,950 {8
Hi 350 {& Mg nN34h5 100| & 1,500 &
R NiE FE7HT 50| kg 4,300 ¥
BEXE_H HEA Bt HBANA &
s £ 550 kg
RER 700 {&
Eh HErE A 2 e ({FE 200 &
R EiER 7', ¥U1hst 150| {8
) 75 350( {@ =
H¥4 vEIL)S L[5 AR
Bak Y¥4h5t & Eih HEE iz HE |wa]  (HE
FIgsid 415 100| 1@ & mAak B 1,000( kg
b 208 300| ke H¥ 400( kg
=] FLEUES 200/ 1@ HLb &, a5 400| kg
XH KiR nN34h5 100| & & Fyae) 100| ke
Pl 3 B4hst 100| {& 12 xR FEYR . AR%4 200| ke
FiE INIE, FREAA 100| {& §EI AR kg
HEA [ B ke Bt 2100 ke
i [1] THERDYY [FREALI5 50| {&
BB R FRAL145+ & =
Hi 300 kg _=
1,150 {& R
Eih HEE iz HE |wa]  (HE
= REAS RE S M 3,500| %
ERBS [vinst E-7V % 900| &
Eih HErE ki = e {FE ENTT 150| &
1B AT BAhst 100| 1& NS EARS [#|EIR 150| &
HE 100| & REAS ERN BTV 300| #%
xR 10 100| {& EE N KEMIS (T4 450| kg
§EI5 054, byast 200| 1& ZEN WEH EAR'F 100| &
-] 14451 50| {& g 450 kg
R FF 445 100| 1& 1,300 X
pTi] 40 50| {8 3,800 &
BHE 50| &
BB UAF EVE ) & = -
=40 =4 P ke ERATE  EEEmM
g ke WER
750 {8 BE—2
EEE=L Eih HEE iz HE |wa]  (HE
JikE EES BHE W'} 500( kg
77t 100| kg
g | mEE | aE ECiIN T &9= 500| 4%
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